
Eastern University, Sri Lanka
Faculty of Gommerce and llianagement

Final Year- First Semester Examination in Business AdministrationlGommerce/
(specialization in Enterprise Deveropment) - 200g/2009($ep'2009xproper)

IHGT 4144 - Financial lUtanagement
Answer All Questions Time Allowed: 03 Hours
Non Programmabre carculators are permitted. use tabres attached.

The comparative financial statements of ABC plc for three financial years ending 31rt December
are given below:

Balance sheet as at 31d of December

Liabilities 2008 2007 2006

Rs. Rs. Rs.
Equfty and Liabitities

eilcre \/aptrat ano Kesgrves
228,220 214,A19 214,339

rv-/o Leng rerm Mongage Loan
50000 50000 30000

errl.,tr trilril Loans rrom oanK

ffi 12,300 8,610 2,460

1Od,OO6 64,427 63,622
v'utur.rr tl"llrrg expenses

Assets

5,843 3,797 1,921

399,369 bco,gog 312,342

Lailq ailu clt{Jqlnsrs, rufnltufe etc.(ngt) 186,210 171,345 144,046

120,725 90,526 83,454

33,639 60,495 u,364
tr^Pcnues Patg tn aqvancg

4,311 2,269 1,299
vql,lt ct tralln

54,485 16,219 29,179

399,369 340,953 312,U2



(d)

The lncome statement for the year ended 31't of December

2008 2007 2006

Rs.Rs. Rs.

Cost of sales

Gross Profit

Operating exPenses

Profit before interest and taxes

Jnteiest on long-term loan

I Profit before tax

I Taxes

I Profit after tax
I

538,211 458,618 428,21

31 8,1 33 276,174 258,7t

220,078 182,444 169,51

199,982 166,029 147,81

20,096 16,415 21,71

3,0(5,000 5,000

15,096 11,415 18,!'

6,2t5,032 3,805

10,064 7,610 12,4\

(e)

TI

Required:

Comment on the financial performance of the company under tt{e three years using relevat

financial ratios and indicate areas which require investigation 
" (20 Markt

2. (a} Find thegresent value of Rs.10,000 receivable after 8 years if the rate of discount is (

10o/0, (ii) 12%, and (iii) 15%'
(04 Marks

(b) A finance company advertises that it will pay a lump sum of Rs'10'000 at the end of 
'

years to investors who deposit annually Rs.1,000. what interest rate is implicit in thi

offer?
(04 Markr

(c) A person wants to borrow Rs.1,500,000 tO buy a flat' He approaches a housing comparl

whichchargersl3%interest.HecanpayRs.200,000peryeartowardloanamortization

What should be the maturity period of the loan?

{04 Marks
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(d)
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1t

.ri'6'
A firm borrows Rs.500,000 at an interest rate of 14%. The loan is to be repaid in + "qi*,ffinstallments payable at the end of each of the next 4 years. Prepare the loan anortizfrffi
schedule.

{04 Marks}

What amount must be deposited today in order to earn an annuat income of Rs.b,000
beginning from the end of 15 years from now? The deposit earns 10% per year

(04 Marks)

(Totat 20 Marks)

(l) The following data are extracted from the financial statements of a company:

$ales (100,000 units @ Rs.10) 10,00,000
Variable Costs 5,00,000
Contribution 5,00,000
Frxed Cost 3,9,0,000
Net Profit 2,00,000

Required:

(a) Calculate the following:

(i) PA/ ratio

(ii) Break Even Point

(iii) .,"Margin of safety

(b) lf the price increases by 10 percent, what shall be the new pA/ ratio and Break Even
Point?

(c) lf the price increase by 10 percent is accompanied by a reduction in volume by 12
percent, what shall be the effect on the Break Even point and profit?

(10 Marks)

t
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(ll) XyZ plc manufactures three different products, S,T,Y, and the following information has

been collected from the books of accounts:

Products

s T Y

Sales Mix 354/o 35o/o 30o/o

Selling Price (Rs.) 30 40 20

Variable Cost (Rs.) 15 20 12

Total Fixed cost Rs.180,000

Total Sales Rs.600,000

The company has, currently under discussion, proposal to discontinue the manufacture of

product Y and replace it with Product M, when the following results are anticipated:

Products

s T M

Sales Mix 50o/o 25o/o 25%

Selling Price (Rs.) 30 40 30

Variable Cost (Rs.) 15 20 30

Total Fixed cost ns.redooo

TotalSales Rs.640,000

Required:

Will y.ou advise the company to changeover to the production of M? Give reasons for your t,

answer
(10 Marks)

(Total 20 Marks)
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(04 Marks)

{ll) A firm is consldering two mutually exclusive investrnents, Project A and project B. The
expected cash flows of these projects are as follows:

year
Gash flows (Rs.000)

Proiect A Project B

0 (1000) (1600)

1 (1200) 200

2 (600) 400

3 (250) 600

4 2000 800

5 4000 100

Required:

(i) Construct the NPV profiles for each of the projects. 
4

(ii) What is the IRR of each project? :

(iii) which project would you choose if the cost of capital is 10%?
(ivlwhich project would you choose if the cost of capital is 2oo/o?

{f 6 Marks}

(Total20 Marks)

5. (U A Rs' 1000 par value bond bearing a coupon rate of 12o/a will mature after S years. What is

the value of the bond today, if the discount rate is 1Eo/a?

{04 Marks)

(lllThe market price of a Rs.1000 par value bond carrying a eoupon rate of 14o/o and maturing
after 5 years in Rs.1050. what is the yietd to Maturity ffrM) on this bond?

5

(04 Marks)



(lll) The Sun Ltd and the Mdon Ltd have the following probability,distribution of returns from the

securities;

Economic Conditions Probability
Returns

Sun Ltd Moon Ltd

High growth 0.1 32 -8

Normalgrowth 0.2 20 -2

Slow growth 0.4 14 10

Stagnation o.2 25

Decline 0.1 -10 30

Required:

i. Determine the Covariance of Returns

ii' Determine the Correlation of Returns between the two companies' securities

4 {04 Marks'

(lV) Calculate the expected rate of return for security I from the following information: I

Rr =10olo Rm =18% Fr =1.35 :

i1 (oa Mark$

(V) From the follovUing data compute beta of security j

6i= 12o/o crn, = 9olo COq,n = +0.72

(04 Marksf
I
3

i
;

{Total 20 Marks).
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Prosent Valu6 .nd FutuF Valuo Tabler

Tablo A'1 Futurc varue rntorcst Facto' fior ono Doflar compo{ndod rt t p.rcent fo] ,,

Table A-2 Fut m valu6 lntErest Facto6 lof a one-Dollaf Annulty compouned at k parcont for n Pe.lodst FVIFA kn= Ift + Un - I I / k



PrD8ont Value and Futuru Valua Tabl6

Tablo A€ P'osent Valu€ lnterest Factor8 for Ono llollNr Discountod at ft Psrc9nt lor n Pstlods: PtllF 4,= 1 1 11 . nn

Trble A4 Plrasnt Vatuo lnterEst FactoF tor a Qts-Oollar Annuity Discounted al ,( Parcsnt iot 'l 
Periodsl PVIFA = I1 - 1(1 + kln! / k


